
































C E  = 1.6 - 0.6 = 1.0

LLaSBlnt?XfllS  (2.46) L'=d&

A , = 3 x 1.0

= 3.0

&'l%A VTG%KIl7  (2.43) L51%

mV - M, = 5 log (dpc)  - 5 + A ,

13 - 4.4 = 5 log (ripe) - 5 + 3.0

log (dpc)  = 2.12

r =  1 3 2  w&WI

~ld~~~~"a4~:u~Mls~rb~~~~~~

mV - M,  - A = 5 log (r/l0  pc)

= 13 - 4.4 - 3

= 5.6
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(2.6lrl)

“P” =  vu  +  vosinm

7 (*)  = 7 (2.6211)

!!!Yr4*)  = v + 4,74  p (2.62Tl)

$ = 2VPK + “‘p.,
I

P

= v 2PR  + “2p7  + v 2P” (2.63)

100 wi-hn)
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p = (4.74) a
vgina
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-
p - 41747

‘PR
(2.68)

NP = i;, P, (2.69)
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N
M = 5 + 5 log (Np) - 5 log iz,  10-0.2ml (2.71)
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